DIAGRAM
OF

PARALLELOGRAM
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DIAGONAL INVESTIGATIO (
#1 @b

ARE THE DIAGONALS
k CONGRUENT? -
m -
MBD = : 4
Since AC is ‘DMWW\'
to BD, then the diagonals-of

parallelograms [\0* CQﬂng_.ﬂ
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DIAGONAL INVESTIGA

#2

DO THE DIAGONALS BI
EACH OTHER?

mDE =

mBE = ——

since DE = RE

then diagonal DB —_
was biseoted by AC.
mAE =
mCE =
Since ﬂE = 06

then diagonal AC —_—

MLML%@B.




DIAGONAL INVESTIGATION

#3 MD

ARE THE DIAGONALS

PERPENDICULAR?
(#]
m<DEC = \{O
m<CEB = O
m«BEA = i
m<AED = 30

In order for the diagonals to be
perpendicular, the angles
formed at the intersection of the
diagonals must be 90°. Since

Nane ok The an

90°, the diéjgona!s are
dicule
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DIAGONAL INVESTIGATION .‘

#4

DO THE DIAGONALS BISECT
VERTEX ANGLES? ‘

e

Since 2DAC o
to 2CAB, then 2DAB (whith is a

vertex angle) |§b not

Since £ABD mzmanmb
to 2.DBC, then £ABC (wHich is

a vertex angle) ‘1 8 NotT




